LR 11000
Aufbauanleitung
Assembly instructions
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Einscherplan 19 W

" - 3¢
. 130 - 13r . 13f - 15¢
Reeving chart 150 - 150, 15f - 17f
170 - 70 L A7 - 19f
190 - 18f . 181 - 18r
18f - 16f ., 167 - 16r
161 = 14F . 14t - 14
14 - 126, 120 - 12r
126 - 11F L 110 - 11r
11 - 10f . 10r - 10f
100 - 9r . 9f - of
or - &r . 8f - 8f
8r - 7r . 7f - 6f
6r - 5r . 5f - 4f
4r - 3r . 3f - 28
2r - Ar . Af - Ar
1 - 2f . 2r - 3r
3f - 4f . 4r - 5r
St - 6f . 6r - 7r
76 - W
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Ausleger
Boom
108 m
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F-Kopfstlck 253t
F-head section 253t

F-AnschluBkopf
F-adapter head
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Einscherplan Hakenflasche
Reeving chart hook block
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Einscherung: Einscherung: =
2x3 fach bis 137t 2x4 foch bis 182t (LQ
©.
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von W1. 3f - 2f, 2r - 2r von W1. 3f - 3f, 3r - 2r ’
2f - F 2f - 1f, 1r - F
von W2. 5f - 2f, 2r - 6ér von W2. 5f - 3f, 3r - 6r j
6f F 6f - 1f, 1r - F [E
N
~
Einscherung: Einscherung:
2x5 fach bis 227t 2x6 fach bis 253t
|
E
g
E
N
—
E
N-
o
: i i
von Wz. zi’?:’?r’jr 6f - 2f, 2r - 7r
P n 7F - Af. 10 - F
= \O/ Winde 6
=
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Winde 1
Winde 2






